[image: image2.jpg]





RDMOTO CZECH REPUBLIC



info@rdmoto.cz



www.rdmoto.cz


T16SD
Triumph Speed Triple 1050 2016-
	Kit for Left Side:
	Kit for Right Side:

	
	
	
	
	
	
	
	
	
	

	ID.
	Description
	Cat.no.
	Pcs
	
	ID.
	Description
	Cat.no.
	Pcs
	

	1
	Dural. adapter for SLD
	537
	1
	
	1
	Dural. adapter for SLD
	537
	1
	

	2
	Dural. roller d=50mm
	DV13
	1
	
	2
	Dural. roller d=50mm
	DV13
	1
	

	3
	Bolt l M10x70mm
	1007
	1
	
	3
	Bolt l M10x70mm
	1007
	1
	

	4
	Bolt M8x25
	815
	2
	
	4
	Bolt M8x25
	815
	2
	

	5
	Washer M8
	802
	2
	
	5
	Washer M8
	802
	2
	

	6
	Dural. nut M22x1,5mm
	446
	1
	
	6
	Dural. nut M22x1,5mm
	446
	1
	

	7
	Dural. bolt  M22x1,5mm
	447
	1
	
	7
	Dural. bolt  M22x1,5mm
	447
	1
	

	8
	Bolt M12x80mm
	956
	1
	
	8
	Bolt M12x80mm
	956
	1
	

	9
	Washer M12
	803
	1
	
	9
	Washer M12
	803
	1
	

	10
	Nut M12
	811
	1
	
	10
	Nut M12
	811
	1
	

	11
	Washer - Spring M10
	801
	1
	
	11
	Washer - Spring M10
	801
	1
	


Mounting Instructions – Left Side
1. Unscrew the original M12 bolt from motorcycle frame (attached to rear side by nut).
2. Use the special ID.6 nut and insert M12 ID.8 bolt into it.
3. Take this assembly and mount it onto the motorcycle frame, using ID.9 washer and ID.10 nut on rear side. 
4. Now screw the special ID.7 bolt into the nut.
5. Push the M10x70 ID.3 bolt (with ID.11 washer) through the ID.1 adapter and ID.2 dural roller. Bring the adapter closer into the thread with the dural. bolt.
6. Mount and tighten the slider using ID.4 bolts, ID.5 washer.
Use the same procedure for Right Side.
We recommend using medium strenght thread glue during assembly.
[image: image3.jpg]



[image: image4.png]


[image: image1.jpg]


 
1

